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01 At 22l 42,555 0 42,555
OMEg €& T2 29 42,555
O ZAt=g 70,0003 » 4J1BF « 53] » 63 8,400
O HLER EFF AE
10,000,000& * 14 10,000
O 8UZH IHES==2
277,750,000& * 0.0308 8,555
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03 A2 Z Hl 28,500 28,500 0
0O S8l g2 M
2,000& * 23] » 500= 2,000
0 232 28 2A= 300,000& * 153l 4,500
O &8AMNES 25 3,000,000& = 13l 3,000
O 8AMES 280t 3,000,000& = 13l 3,000
O X&) EE8H A 6,000,000& = 14 6,000
O XNS0=ot HSEEE =
10,000,000& * 14 10,000
NAEXI e 29 83,599 105,503 A 21,904
HNASIIIHE2 29 83,599 105,503 A 21,904
NASRD =22 29 73,599 95,503 A 21,904
201 Let2d] 35,159 56,663 A 21,504
01 At 221l 10,799 16,443 A5,644
0 get=2H| 5,919
O #8a288 7Y 200,000& = 23| 400
O =SAEX 7Y 25,0003 » 15&tAt 375
O &Hel Mg 72 50,000& = 4& « 43| 800
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O LI X 7 10,0002 » 508 500
O #% 228 M2 1s2
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O #2™ BIANREE 2
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O g2 A&8E5 B82 5,000,000 « 13 5,000
O etga2ss Ity & Ay
500,000 * 13| 500
O Aot EA 22
200,000 =« 6¥ 1,200
[0 A& &Hl S XYl 7,400
O gz 34 1,200,000 = 23| 2,400
O 22t Al Z&Hl SAl2eld]
5,000,000& = 1A 5,000
202 o4 H| 2,000 2,400 A 400
01 2L I 2,000 2,400 A 400
[0 €Y A &2 80,000 = 1&¥H = 20¢ 1,600
[] st 2AIE ASH 80,000& x 1 = 5 400
301 AP 1,440 1,440 0
09 AM&IHIXI® 2 1,440 1,440 0
0 HE DS 2 SEX 4T A2y
60,0008 = 24H 1,440
401 A& HI L 204 HI 35,000 35,000 0
01 Al&H| 35,000 35,000 0
0 MAZID|Ie =22 24 35,000,000 = 14! 35,000
NAHAEXDet22 EEIEN Iz 10,000 10,000 0
201 LBt ]| 10,000 10,000 0
03 A2 EH| 10,000 10,000 0
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